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1. feladat 
 Ut = 12 V 
 
 
 
 
 
 
 
 R3 = ? (1,089 kΩ) 
 UCB0 = ? (10,47 V) 
 
------------------------------------------------------------------------------------------------------ 
2. feladat 
 
  
 
 
 
 
 
 IC0 = ?  (1,98 mA) 
 UBC0 = ? (9,454 V) 
 
------------------------------------------------------------------------------------------------------ 
3. feladat 
 
 
 
 
 
 
 
 
 IC01 = ?  (0,1 mA) 
 IC02 = ? (0,2 mA) 
 
 
------------------------------------------------------------------------------------------------------ 
4. feladat 
 
 
 
 
 
 
 
 IC01 = ?  (0,634 mA) 
 IC02 = ?  (0,634 mA) 
 UCE01 = ?  (5,21 V) 
 UCE02 = ? (2,65 V) 
 

UEB0 = 0,6 V 
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5. feladat 
 
 
 
 
 
 
 IC01 = ?  (0,022 mA) 
 IC02 = ?  (4,49 mA) 
 
 IC01 = ?  (0,09 mA) 
 IC02 = ?  (1,51 mA) 
 
------------------------------------------------------------------------------------------------------ 
 
6. feladat 
 
 
 
 
 
 
 
 IE01 = ? (1 mA) 
 IE02 = ? (1,985 mA) 
 
 
 
------------------------------------------------------------------------------------------------------ 
 
7. feladat 
 
 
 
 
 
 
 
 
 
 
 IC01 = ?  (1,9998 mA) 
 IC02 = ? (1,96 mA) 
 IC03 = ? (1,98 mA) 
 
 
 
 
 
 
 


